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  Period____Date________________Volumes of Revolution - Washers and Disks

     

For each problem, find the volume of the solid that results when the region enclosed by the curves is

     

revolved about the 

     

x-axis.
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For each problem, find the volume of the solid that results when the region enclosed by the curves is

revolved about the given axis.
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For each problem, find the volume of the solid that results when the region enclosed by the curves is

revolved about the given axis.  You may use the provided graph to sketch the curves and shade the

enclosed region.

5)  

  

y = 

    

x
2
 − 2

  

y = −2

  

x = 2

Axis: 

  

y = −2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

6)  

  

x = 

   

y  + 3

  

x = 

    

y

2
 + 3

Axis: 

  

x = 1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

Critical thinking questions:

7)  Use the method of disks to derive the formula for the volume of a sphere of radius 

  

r.

8)  A 6 cm diameter drill bit is used to drill a cylindrical hole through the middle of a sphere of radius 5 cm. 

What is the volume of the resulting object?
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  Period____Date________________Volumes of Revolution - Washers and Disks

     

For each problem, find the volume of the solid that results when the region enclosed by the curves is

     

revolved about the 

     

x-axis.
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For each problem, find the volume of the solid that results when the region enclosed by the curves is

revolved about the given axis.

3)  

  

y = 

   

x  + 1

  

y = 

    

x
2
 + 1

Axis: 

  

y = −1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

  

π

   

∫
0

1

(

  

(

   

x  + 2)2

 − 

  

(

    

x
2
 + 2)2)

  

dx

 = 

  

49

30

  

π ≈ 5.131

4)  

  

x = 

  

−

   

y
2
 + 2

  

x = 

  

y

Axis: 

  

x = −2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

  

π

   

∫
−2

1

(

  

(

  

−

   

y
2
 + 4)2

 − 

  

(

   

y + 2)2)

  

dy

 = 

  

108

5

  

π ≈ 67.858

-1-



©Q g220K1D5L TKfuotzaa zS2owfXt6w5air4ew IL7LKCH.j D iAol4lQ ZrXiygLhEthsg VrKeosleTrCveeEdU.e s BM5asdweq 6wQiltDhp PI1nzfGi4nhi4tkeO ACgaclFc3u3lyuMsX.P Worksheet by Kuta Software LLC

     

For each problem, find the volume of the solid that results when the region enclosed by the curves is

revolved about the given axis.  You may use the provided graph to sketch the curves and shade the

enclosed region.
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Critical thinking questions:

7)  Use the method of disks to derive the formula for the volume of a sphere of radius 

  

r.
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8)  A 6 cm diameter drill bit is used to drill a cylindrical hole through the middle of a sphere of radius 5 cm. 

What is the volume of the resulting object?

 

  

V  = 

  

π

   

∫
−4

4

(

  

(

 

25 − 

    

x
2 )

2

 − 9)

  

dx = 

 

256

  

π

3
 

   

c

   

m
3

-2-

Create your own worksheets like this one with Infinite Calculus.  Free trial available at KutaSoftware.com


